
Spiel 1 Spiel 2 Gesamt

Spiel 127 15:15 J 1 STADLER Herbert 43 + 55 = 98 #

J 2 ÖLLERMEIER Fritz 52 + 54 = 106 #

Spiel 129 15:33 J 3 STOLZ Martin 51 + 50 = 101 O O

J 4 ACHLEITNER Christian 58 + 55 = 113 #

Spiel 131 15:52 J 5 KÄFERBÖCK Roman 55 + 53 = 108 #

J 1 STADLER Herbert 52 + 61 = 113 #

Spiel 133 16:11 J 2 ÖLLERMEIER Fritz 54 + 56 = 110 #

J 3 STOLZ Martin 56 + 61 = 117 O O # #

Spiel 135 16:29 J 4 ACHLEITNER Christian 56 + 56 = 112 O #

J 5 KÄFERBÖCK Roman 51 + 63 = 114 O O #

Spiel 137 16:46 J 1 STADLER Herbert 55 + 59 = 114 O

J 3 STOLZ Martin 54 + 58 = 112 O # O #

Spiel 139 17:07 J 2 ÖLLERMEIER Fritz 54 + 61 = 115 O O #

J 4 ACHLEITNER Christian 59 + 69 = 128 O O # #

Spiel 141 17:28 J 3 STOLZ Martin 57 + 51 = 108 # # #

J 5 KÄFERBÖCK Roman 57 + 56 = 113

Spiel 143 17:46 J 4 ACHLEITNER Christian 60 + 52 = 112 # # #

J 1 STADLER Herbert 56 + 54 = 110 O #

Spiel 145 18:03 J 5 KÄFERBÖCK Roman 55 + 54 = 109

J 2 ÖLLERMEIER Fritz 57 + 54 = 111


